y=sinx
Domain: )(I X &R

x-intercepts: K7, K &~ ih+ra¢/Asymptotes:

L

Section 3-1: Graphing Trig Functions

Range: —] 4 -y

y=cscx Recall: cscx =

s sinx

Domain: % | % &R

CXcept KT, K dn iniege

x-intercepts: Men<
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Range: Dﬁ” or ‘32’

Asymptotes: TT )
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y=Cosx
Domain: ®] % &R

x-intercepts: % w KT,
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Asymptotes:
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* csc.x is undefined when sinxy =0

Period: 9T7

1) Graph sin.x to help with the placement of

cSCx

x-intercepts of sinx .

3) Draw parabolas at every min and max of

Sinx.
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Now—e

Period: 2T

. *Note: sin.x is NOT part of the graph.
2) Draw dashed vertical asymptotes at the



y=secx

Domain: ¥| Y &f;
4)((4"’ lg} !LTT“]I\Z- ar~ IQL\KJ_«

x-intercepts:
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Recall: secx =

CoS x¥

* sec.x is undefined when cosx =0

Range: v £-1 er o z | Period: 91T

Asymptotes:

1

(I

1) Graph cos x to help with the placement of
secx . *Note: cos.x is NOT part of the graph.
N, 2) Draw dashed vertical asymptotes at the
» X-intercepts of cos.r.

CosS ¥ .
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y=tanx Recall: tanx =

Domain: )(} X &P~ )

CoOS ¥

Range:

5?‘({«{?* J-_;_- # ]Lfrl [N 'S ;rxé—v?,/
x-intercepts: )Lﬂ'))é b NP ger Asymptotes: ’%: e, K s -u«\*"-}ar“

1
| | | \
| \ A f‘ 1) Draw dashed vertical asymptotes at the
( . [l £ x-intercepts of cos.x.
\ /¢ ( ‘ 1 // ‘ 2) Draw x-intercepts at K7, which is midway
- -~ o — s between the asymptotes, at the % period mark.
¥ // t f ¢ ff 3) Draw points to show a y-value of “-1” at the
‘ ' \/ f / % period mark, and “1” at the % period mark.
v *\[, ;L L 4) Draw an increasing curve through the three
: ] . points.
. )
cos x . y :
y=cotx Recall: cot x = =— * cot x is undefined when tanx=0or sinx =0
tanx  sinx
Domain: Range: Period:
x-intercepts: Asymptotes:
f | 4\ (4\ ’ 1) Draw dashed vertical asymptotes at the
! ( ”\ 1 \ [ x-intercepts of sin.r.
\ .
Q N I | 2) Draw x-intercepts at —+K 77, which is midway
3 \t\ R [ v » 2

y
f 3) Draw parabolas at every min and max of
f
|

*tan x is undefined when cos ¥y =0

| ) &R Period: 1T

between the asymptotes, at the % period mark.
3) Draw points to show a y-value of “1” at the %
period mark, and “-1” at the % period mark.

4) Draw a decreasing curve through the three



